
RFQ Quotes Received 6 Invited Suppliers 47
Close Date Active Quotes 6 Intent to Participate 5

RFQ Currency Shortlisted Quotes 6 Responded 6

Line Summary AWARD 47153 Yes No

Unit Quantity
Quote 

Quantity
Award 

Quantity Rank
Each 20 20 20 1
Each 20
Each 20
Each 20
Each 20
Each 20
Piece 20 20 20 1
Piece 20
Piece 20
Piece 20
Piece 20
Piece 20
Assembly 2 2 1
Assembly 2 2 2 2
Assembly 2
Assembly 2
Assembly 2
Assembly 2
Assembly 12 12 12 1
Assembly 12
Assembly 12
Assembly 12
Assembly 12
Assembly 12
Each 6 6 6 1
Each 6 6 2
Each 6 6 3
Each 6 6 4
Each 6 6 5
Each 6
Each 6 6 6 1
Each 6 6 2
Each 6 6 3
Each 6 6 4
Each 6 6 5
Each 6
Each 2 2 2 1
Each 2 2 2
Each 2 2 3
Each 2 2 4
Each 2
Each 2
Assembly 2 2 2 1
Assembly 2 2 2
Assembly 2 2 3
Assembly 2
Assembly 2
Assembly 2

File Download Time 10/24/2024 8:00

8 HEAD: FUEL PUMP 1210194 The Aftermarket Parts Com
8 HEAD: FUEL PUMP 1210194 Mohawk Manufacturing and
8 HEAD: FUEL PUMP 1210194 ElDorado National (Californ
8 HEAD: FUEL PUMP 1210194 Muncie Transit Supply 1790.38
8 HEAD: FUEL PUMP 1210194 GPM Truck Center Inc 1649.86
8 HEAD: FUEL PUMP 1210194 Cummins Sales and Servic 1514.88
7 BRACKET: FUEL PUMP SUPPORT 1210193 Mohawk Manufacturing and
7 BRACKET: FUEL PUMP SUPPORT 1210193 ElDorado National (Californ
7 BRACKET: FUEL PUMP SUPPORT 1210193 The Aftermarket Parts Com 81.04
7 BRACKET: FUEL PUMP SUPPORT 1210193 Muncie Transit Supply 60.09
7 BRACKET: FUEL PUMP SUPPORT 1210193 GPM Truck Center Inc 59.44
7 BRACKET: FUEL PUMP SUPPORT 1210193 Cummins Sales and Servic 51.1
6 SCREW: HEX FLANGE(M10X1.50X70 0810523 ElDorado National (Californ
6 SCREW: HEX FLANGE(M10X1.50X70 0810523 The Aftermarket Parts Com 9.81
6 SCREW: HEX FLANGE(M10X1.50X70 0810523 Mohawk Manufacturing and 9.68
6 SCREW: HEX FLANGE(M10X1.50X70 0810523 Muncie Transit Supply 7.15
6 SCREW: HEX FLANGE(M10X1.50X70 0810523 GPM Truck Center Inc 6.5
6 SCREW: HEX FLANGE(M10X1.50X70 0810523 Cummins Sales and Servic 5.97
5 SCREW: HEX FLANGE(M12X1.75X50 0810522 ElDorado National (Californ
5 SCREW: HEX FLANGE(M12X1.75X50 0810522 The Aftermarket Parts Com 9.4
5 SCREW: HEX FLANGE(M12X1.75X50 0810522 Mohawk Manufacturing and 8.46
5 SCREW: HEX FLANGE(M12X1.75X50 0810522 Muncie Transit Supply 6.52
5 SCREW: HEX FLANGE(M12X1.75X50 0810522 GPM Truck Center Inc 5.99
5 SCREW: HEX FLANGE(M12X1.75X50 0810522 Cummins Sales and Servic 5.5
4 HANDSET:DRIVER COMMUNICATION6110001 Muncie Transit Supply
4 HANDSET:DRIVER COMMUNICATION6110001 Mohawk Manufacturing and
4 HANDSET:DRIVER COMMUNICATION6110001 GPM Truck Center Inc
4 HANDSET:DRIVER COMMUNICATION6110001 ElDorado National (Californ
4 HANDSET:DRIVER COMMUNICATION6110001 Cummins Sales and Servic
4 HANDSET:DRIVER COMMUNICATION6110001 The Aftermarket Parts Com 843.71
3 HOSE:OIL SPINNER FILTER  8X10 W/0810051 Muncie Transit Supply
3 HOSE:OIL SPINNER FILTER  8X10 W/0810051 Mohawk Manufacturing and
3 HOSE:OIL SPINNER FILTER  8X10 W/0810051 GPM Truck Center Inc
3 HOSE:OIL SPINNER FILTER  8X10 W/0810051 Cummins Sales and Servic
3 HOSE:OIL SPINNER FILTER  8X10 W/0810051 ElDorado National (Californ 222.51
3 HOSE:OIL SPINNER FILTER  8X10 W/0810051 The Aftermarket Parts Com 98.02
2 SWITCH:COVERT,DPDT,6-WIRE,W10690033 Muncie Transit Supply
2 SWITCH:COVERT,DPDT,6-WIRE,W10690033 Mohawk Manufacturing and
2 SWITCH:COVERT,DPDT,6-WIRE,W10690033 GPM Truck Center Inc
2 SWITCH:COVERT,DPDT,6-WIRE,W10690033 ElDorado National (Californ
2 SWITCH:COVERT,DPDT,6-WIRE,W10690033 Cummins Sales and Servic
2 SWITCH:COVERT,DPDT,6-WIRE,W10690033 The Aftermarket Parts Com 323.59
1 CONVERT:MIC 690018 Muncie Transit Supply
1 CONVERT:MIC 690018 Mohawk Manufacturing and
1 CONVERT:MIC 690018 GPM Truck Center Inc
1 CONVERT:MIC 690018 ElDorado National (Californ
1 CONVERT:MIC 690018 Cummins Sales and Servic
1 CONVERT:MIC 690018 The Aftermarket Parts Com 63.8
Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 47153 Coach Downs
47153
10/18/2024 14:00
USD


